@)Xﬂ’}eﬁpﬁsf %‘\'ﬁ Ht’su\‘]’s £Aor~* Podﬁ‘s @) Gwgl Qa) _
{)CLJ)r@) ‘\:\’?? O\ﬁﬁde-\{’ (Ja»}e cqp c\qah(_c)e o? ;\"c“l‘a\ Céf\‘

W'\’IC"«1 szbckvcjmm_ cWonqes fovm Lo0 bo 0o 3g Y3

‘Erw 3ov e

Pw‘r(\o)i Yo avteage sote of c\awje
(,(‘5’5 v 95.S % ‘
]HO l \—P an a\o\j@(‘,“" ¥ “‘“\’nr‘bww u?wged o‘* ¢\ ‘?E’\‘?EY pee
gpc.o‘mcg Q«Hdw & \qe?ﬂk\‘* DJP 2 & fe(i’wl 9 '45 \wrj L+ s Cj h%
- ‘
NG B TA e Xs
W)’MA‘ [ S “qu C&v‘&(’cﬂkj,e Veloc:A‘U

W\Ljﬁt_éao _ 'zp‘ |
1C {10\“@ bg c\’kowxje Z—SC%);:.,é(O) = M
2 0O 7.
R = al _ 6 M :[3;;2 ]
2.

@) nfz)(Jr _2; SGCOncis?.

Qo 2 Y -
O\\,eroua,e Hd\% a‘? C\/(('/‘Vlje: Q)Cq)h g<2)
H_ 2
— Qo1 womwlb M
: /Z/g - = @

-3



